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Hanpasnenue nogroroBgu — 38.03.01 OkoHOMMKA
HarnpasnieHHOCTb (Tipodhu/ib) — DKOHOMUKA MPeANPUSATHI U OpraHu3aluit
Yuebnbiii riad 2021 roga pa3paboTku

®OH/I OIIEHOYHBIX CPEJ[CTB

1. Ha3nauenue ¢oHja oueHouHbIX cpejcTB (POC) nmo gucuMIInHe

®OC mno yueOHOW [AWCIUIUIMHE — COBOKYIHOCTb KOHTPOJIBHBIX MaTepuasioB,
npeJHa3HAueHHbIX [I/Isi  W3MepeHUsi YPOBHS /JIOCTIKeHUsi OO0yYaroIUMCsl YCTaHOBJ/IEHHBIX
pe3y/nbTaToB 00yueHHs], a TakK)Ke YPOBHsI C(hOPMHPOBAHHOCTH BCEX KOMIIETEHIUH (WM UX uacTeid),
3aKpervieHHbIX 3a AucuuriimHoW. POC wucrosb3yeTcsi MpU TPOBEJEHWU TEeKYLero KOHTPOJIs
yCIIeBaeMOCTH U TIPOMEKYTOUYHOM aTTeCTal[uK 00yUarOIXCS.

3agauu POC:

- ymOpaB/ieHWe TIPOLIeCCOM TIpHoOpeTeHHss OOydyarOIUMUCST HeOOXOAWMBIX 3HAHHH,
YMeHU, HaBLIKOB U (JOPMUPOBaHKEM KOMIleTeHLWH, oripesiesieHHbIX B PI'OC BO;

- OIleHKa /IOCTH)KeHUH 00yYaroIyXxcsl B MPOLiecce U3yueHust AUCHUTIIAHBI C BbI/je/IeHUeM
MOJIOKUTETbHBIX/OTPULIATe/IbHBIX ~ Pe3yJbTaTOB U [JlaHUPOBaHWe  TIpe[yrpexxAaroinux/
KOPPEeKTUPYIOIIUX MepOTpHUSATHH;

- obecrieyeHWe  COOTBETCTBUSI ~ pe3y/bTaToB  OOyueHWs  3a7auaM  Oyayiied
npoecCHOHANLHON [JleiTelIbHOCTH uepe3 COBEpLIEHCTBOBAaHWE TPAJWLIMOHHBIX U BHeJpeHUe B
oOpa3oBaTe/TbHBIN MPOLIeCC YHUBEPCUTeTa MHHOBALIMOHHBIX METO/I0B 00yUeHusl.

2. Crpykrypa ®OC u npumMeHsieMble MeTO/bl OLIeHKHU M0/Ty4eHHbIX 3HAaHUHU
2.1 O6mue ceegerus 0 POC

@®OC no3BoJIsIeT OLIEHUTh OCBOEHHE BCEX yKa3aHHBIX B paboueil mporpamMmMe [1eCKpUITOPOB
KoMIleTeHLIIUY, ycTaHoBieHHbIX OIIOII. B kauecTBe MeTOZOB OLIeHUBAHUSI IIPUMEHSIIOTCS:
HabO/rozleHe 3a paboroi, Hab/rofieHWe 3a JAeWCTBUSIMM B CMOJETMPOBAHHBIX — YCIOBUSIX,
nipYMeHeHre aKTUBHBIX METOZI0B 00yueHusl, IKCIPecCc-TeCTHPOBaHKe, IPOrpaMMHPOBaHHbIE TeCTHI.

CrpykrypHbiMU 37iemeHTaMu DPOC 1o pucuuruivHe sBiastorcs: POC s nipoBefeHUs
TeKyILlero KOHTPOJIsl, COCTOSILE U3 YCTHBIX, TMCbMEHHbIX 3a[jaHUi, TeCTOB, LIKasbl OLeHUBaHUS,
®OC a5 IpoBeieHUs] MPOMEe)XYTOUHOM aTTeCcTaliuM (3K3aMeH U 3aueT C OL|eHKOM), COCTOSILUM U3
BOTIPOCOB, TPeOYIOILMX MMCbMEHHOTO OTBeTa, U APYTUX KOHTPOJIbHO-U3MepUTeTbHBIX MaTepHasioB,
OIMCHIBAIOIIUX TOKa3aTed, KpUTePUH U LIKaly OLleHUBaHUS.

[TpumeHsieMbie MeTO/ibl OLIEHKU MOTyYeHHbIX 3HAHUM 110 pa3/iesiaM JUCLIUIIAHBI

Teky1uas arrectanust (KOJMYeCTBO

Paznen 3ajlaHui, pabor) Tpomexyrounas
- aTTecTalys
YcTHBIM 0MIpoC TecTupoBaHue
Tema 1. Sectors of economy + +
Tema 2. What is economics? + +
Tema 3. Areas of economics + +
Tema 4. . Development economics + +
Tema 5. Applied fields of economics + + 3ayer
Tema 6. Agricultural economics + +
Tema 7. Economics of education + +
Tewma 8. Labour economics + +
Tema 9. International economics + +




a)
C)

a)
b)

3.

2.2 OrnjeHoYHbIe MaTepHa/IbI /I IPOBEAeHH TeKyIero KOHTPOoJIs

Bxo/jHOM KOHTPOJIb (TeCTUPOBaHKe)
BxoJHOW KOHTpOJIb TIPOBOJUTCS C 1ieJIbI0 OTpeZiesieHUss YPOBHsI 3HaHWM 00yuaroImxcs,
HeoOXOAMMBIX [I/is1 YCIIeIIHOTO OCBOEHUsI MaTepuara JAUCIUTUIAHBL.

TecTupoBaHue.
Variant 1
1. Ynompebume HydcHyto ¢popmy 2nazon08 to be u to have:
1. My favourite subjects .... Physics, IT and Mathematics.
2. We .... a nice library in the college.
3. The novel .... written many years ago.

BapuanTsr:

1.am 5. were
.is 6. have
. are 7. has

. was 8. had

B~ W N

. Onpedeaume, K Kakol uacmu peuu OMHOCUMCS 8bl0e/eHHOe CA080:
. My friend likes to make computer programs.
. This is the oldest building in our town.

. Lomonosov was an outstanding scientist.

. The sun is shining brightly in the sky.
BapuaHThL:

. CYLIIeCTBUTEJIbHOE

. TJIaron

. TIpU/iaraTeibHOe

. Hapeuue

. YUC/IUTEeTbHOe

A WNERLDN
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3. Bcmaebme HyJicHblll npedno2:
1. Now I’'m a student .... Technical College.
2. Usually I go .... the timetable which is .... the hall.

BapuaHThL:

1. at 5.to

2. of 6. by
3. for 7. after
4.in 8. from

4. Choose the correct answer
There is too ... salt in the soup. (B cymne ciuilikoM MHOTO CO/H.)
much
many
a few
There are ... sky-scrapers in our city. (B Hallilem ropofie eCTb HeCKOJIbKO He60CKpebhoB.)
much
a little
a few
I’ve got ... albums of this singer. (Y MeHs1 eCTh HECKOJTBKO a/ITbOOMOB 3TOT'0 UCTIOJTHUTEJIS. )



a)
b)

0)
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much
a few
a little

5. Match the pairs of words
1. builder

2. cheap

3. appearance
4. scientific
5. cozy

6. clever

6. Put the correct pronoun in the sentence.

.... am the first-year student.
I
He, she, it
We, you, they
Is .... in the room?
Somebody
Anybody
Everyone

. are builders
I
He, she, it
We, you, they

7. ¥Ynompebume HyXcHblIil MOOA/bHBII 21A20A:
1. You .... take your umbrella, it’s raining.

2. How .... I get to the museum?

a) YMHBIU

b) yrOTHBII

C) Hay4UHbIU
d) cTtpouTesnb
€) BHEeIIHOCTb
f) mereBbIit

3. After classes students .... go to the library or different hobby clubs.

BapuanTsr:
1. can 4. could
2. may 5. must

3. ought (to) 6. need

Variant 2

1. Ynompebume HydcHyto ¢popmy 2nazon08 to be u to have:
1. The students .... in the library last week.

2. After a few classes I go to the canteen and .... breakfast.
3. My father .... a lot of work to do last week.

BapuanTsr:

1.am 5. were

2.1s 6. have

3. are 7. has

4. was 8. had

2. Onpedenume, K Kakoll uacmu peyu OMHOCUMCS 8bl0e/NeHHOe C/A080:
1. Where do you study?

2. Do you like your study?
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3. After classes students go to their favorite hobby groups.
4. On the first floor of the college there is a hall, a gym and some classes.

BapuanTsr:

. CyLL[eCTBUTE/IbHOE
. TJ1arosn

. IpyusiararejibHOe

. Hapeuue

. MeCTOMMeHUue

Ul WN =

W

. Bcmasbme Hyd#cHblil npednoe:
. .... leaving the college I want to continue my study .... the University.
2. Our college trains specialists .... work .... different spheres.

—_

BapuaHThL:

1. at 5. to

2. of 6. by

3.for 7. after

4.in 8. from

4. Ynompebume HyX*CHbIl MOOA/NbHBIL 210201:
1. The students .... come in time to all their lectures.
2.1.... speak English and don’t know German.
3. You .... take my dictionary.

BapuanTsr:

1. can 4. could

2. may 5. must

3. ought (to) 6. need

5. Choose the correct answer
We’ve got ... free time. (Y Hac Mano cBo60IHOTO BpeMeHH. )
little
many
few

I have never seen so ... stars in the sky. (I HUKor/Ia He BHZe/1 TaK MHOT'O 3Be3/] B Hebe.)

much
little
many

Anna spent ... days in Rome. (AHHa rpoBeJia HeCKOJIbKO iHel B Pume.)

much
a few
a little

6. Match the pairs of words

1. handsome 1. a) poACTBeHHUKH

2. relatives 2. b) ctpouts

3. tgchmaan 3. ¢) CoegunenHoe KopoescTso
4. kitchen 4. d) kpacuBblii (0 My)KuKHe)

5. the United Kingdom '

6. to build g- €) KyXHi

f) TexaMK



7. Put the correct pronoun in the sentence.

1.

I

... am the first-year student.

He, she, it
We, you,t hey

Is ... in the room?
Somebody
Anybody
Everyone

3....

I

are builders

He, she, it
We, you, the

Keys:
Variant 1.

NOOUTR WN -

. 1-are, 2-have, 3-was

. 1- rnarosn, 2-cyuectBut, 3-nipuiarat, 4-Hapeuue
. 1-of, 2- to, in

. 1-much, 2-a few, 3-a few

. 1-d, 2-f, 3-e, 4-c, 5-b, 6-a

. 1-a, 2-b, 3-c

.1-3,2-1, 3-4

Variant 2.

NOUT A, WN -

. 1-were, 2-have, 3-had

. 1-rnarosn, 2-Cy1jecTBuT, 3-MeCTOMM, 4-Hapeuune
. 1-after, at 2- for, in

. 1-must, 2-can, 3-may

. 1-a, 2-c, 3-b

. 1-d, 2-a, 3-f, 4-e, 5-c, 6-b

. 1-a, 2-b, 3-c

ITncrmenHoe TeCTUPOBaHHUE 110 'PAMMATHY€CKHUM TeéMaM.

U WN R -

. BoiOepuTe cooTBeTCTBYIOIIYI0 OpPMY MECTOMMEHHSI SOme, any, no.
. We haven’t got ___ milk. We can’t make breakfast.

. There are ____ new words in this lesson.

. Did you buy ____ stamps?

. There are ____ people in the park because it’s cold.

. Bob always like ____ sugar in his coffee.

2.
1.

a)some b)any c)no

Bbi0epuTe cooTBeTCcTBYHOIIYIO hopMy MecTouMeHnuii much, many, (a) little, (a) few.
The winter examination session will begin in ___ days.
a) alittle b)afew c)much

2.She ate so ____ dessert that she is in bed today with a stomachache.

a)many b)much c)few

3.There are new pictures in this room.

a)many b)much ) little

41drink __ coffee. I don’t like it.



a)many b)few () little
5.There are very ___ scholarships for students.
a)few b)much c) little

3. BeiOepuTe COOTBeTCTBYIOIIYI0 (hOPMY CTeleHH CpaBHeHWs NpHIarare/ibHbIX H HapeuHil.

1. The Trans-Siberian railway is ___in the world.
a) long b)longer c) the longest
2. The rivers in America are much ____ than those in England.

a) biger b) bigger c) the biggest
3. My brother is ___than 1.
a) elder b)the eldest c) eldest
4. English is as ____ as German.
a) difficult  b) more difficult c) the most difficult
5. What is the name of ___ port in USA?
a) big  b) the most big  c) the biggest

4. OTKpolTe CKOOKH M MOCTaBbTe IJ1arosibl Bo BpeMeHa Indefinitenin Continuous.
1. My mother always (to take) a bus to get to work.

2. But yesterday she (not to take) a bus, she (to walk) to her office.

3.  While she (to shop) this morning, she (to lose) her money.

4. Who (to speak) there? -1 (not to know).

5. Who (to take) care of the children in the future?

5. OnpepemuTe npaBuwibHYI0 (popmyriarosa: Present Indefinite/Present Continuous.
1. My son ___ very well.

a) is swimming b) swims ) swim

2. My friend ___ his holiday in the Caucausus now.

a) spends b) spending c) is spending

3. I watch how he ___ the new words in his exercise book.

a) am writing  b) writs  ¢) is writing

4. We ___ to our classes at 8.30 every day.

a) comes b)come c)are coming

5. Is English a special subject at your college? — Yes, it is. We ____ to master it.
a) want b) are wanting ) wants

Kmoun

I 1-b, 2-a, 3-b, 4-c, 5a
II 1-b, 2-b, 3-a, 4-c, 5-a
IIT 1-c, 2-b, 3-a, 4-a, 5-c
IV 1-b, 2-a, 3-c, 4-a, 5-b
V 1-b, 2-c, 3-c, 4-b, 5-a

Indefinite tenses
BribepuTe npaBUIbHBINA BaDUAHT OTBETA.

1. His sister English every day.
a) study b)studis c) studies
2. You to the south next summer.

a) willgo b) go c) went
3. They __this flat five years ago.
a) received b) receives c¢) did receive
4. Many English words ___ from the French language.



a) came b) camed c)comed
5. Yesterday he ____ very quickly.
a) don’trun b) doesn’t run c) didn’t run

5. They ___to our city many years ago.
a) came b)camed c)come
6. I’'m sure he hard next month.
a) will work b) worked c) works
7. He ___letters because he is going to return soon.
a) doesn’t write b) don’t write c) doesn’t writes
8. Ms. Roger is a nurse in a hospital. She ____to look after people.
a) liked b) likes c) like
9. They ______ from the library.
a) didn’t returned b) not returned c) didn’t return
10. Last year the scientists important work in geochemistry.
a) doed b)did c)do
11. The foreign delegation in Moscow last week.
a) arrive b) arrives c¢) arrived
12. You about your parents. It’s badly.
a) will not think b) don’t think c) didn’t think
13. I was very busy last summer and to voyage.
a) didn’t go b) don’t went c) didn’t went
14. The friends this novel last evening.
a) know b) knew c) knowed
15. After classes I usually to the canteen for lunch.
a) goes b)went c) go
16. Let’s cook. Children usually very hungry after school.
a) are b) be c) will be
17. She to wait for us at the University.
a) don’t want b) doesn’t wants c¢) doesn’t want
18. We to the park with our children last Sunday.
a) went b)will go c) go
19. He your article the next time.
a)read b) will read c) readed
20. My friend and I often _____to the theatre to see a new performance.
a) goes b) go c) went
21. The other day I some good music on the radio.
a) listen b) listened c) will listen
22. He usually his free time with his relatives.
a) don’t pass b) doesn’t pass c) didn’t pass
23. My father me the bicycle for my next birthday.
a) will buy b) bought c¢) buys
24. He to study English two years ago.

a) begin b) begun c) began
Knoun.
1-c, 2-a, 3-a, 4-a, 5-a, 6-a, 7-a, 8-b, 9-c, 10-b, 11-c, 12-b, 13-a, 14-b, 15-c, 16-a, 17-c, 18-a, 19-b,
20-b, 21-c, 22-b, 23-a, 24-c

Present Tenses.
BriOepuTe Balll BApHAHT OTBETa BMECTO TPOITYCKOB.

1. T am tired. We for more than an hour. Let's stop and rest for a while.



a) are walking b) have been walking c) walk d)have walked

2. I have read this chapter in my chemistry text three times, and still I it.
a) understand b) haven't understood c) don't understand d)have understood

3. How long a course of lectures on Medieval History?
a) has Professor Donaldson delivered b) does Professor Donaldson deliver
c) is Professor Donaldson delivering d) has Professor Donaldson been delivering

4. Anne is a fashion designer; she to the opening of every new fashion show in the city.
a) goes b)is going c) has been going d) has gone

5. Sonia as a computer programmer this year, but she'd like to try something different in the
future.
a) works b) has been working c) has worked d) is working

6. A group of scientists are travelling around Africa. How many countries so far, I wonder?
a) have they been visiting b) have they visited c¢) they have visited d) do they visit

7. Their car is as good as new though they it for a number of years.
a) have been having b) have had c¢) have d) are having
8. Jake is a good footballer. Do you know since when football?

a) has he been playing b) he has been playing c) he plays d) is he playing

9. You may take this magazine. I through it already.
a) have looked b) am looking c¢) have been looking d) look

10. Jerry promised to come to work in time. He is not here, and he even .
a) hasn't been calling b) isn't calling c¢) hasn't called d) doesn't call

11. David is quite an athlete. He wants to be strong and healthy that's why he every
morning.
a) jogs b)hasjogged c)isjogging d) has been jogging

12. - What are you looking for? — I my umbrella somewhere, and now I don't know where
it is.
a) have left b) have been leaving c¢) leave d) has left

13. Today the world so rapidly; things never stay the same.
a) changes b) has changed c) has been changing d) is changing

14. My mother is a medical nurse; she takes care of sick and old people. What for a living?
a) has your mother been doing  b) does your mother do

c) is your mother doing d) has your mother done

15. Who my newspaper? It was on my desk a minute ago.
a) took b)hastaken b)takes c) have taken

Knrouwn.
1-b, 2-c, 3-d, 4-a, 5-d, 6-b, 7-b, 8-b, 9-a, 10-c, 11-a, 12-a, 13-d, 14-b, 15-b

Past Tenses.



BribepuTe Balll BApHAaHT OTBETa BMECTO MPOITYCKOB.

1. He had been away for many years and when he visited his native town, he saw that it
greatly.
a) was changing b) changed c) had been changing d) had changed

2) It wasn't raining when I looked out of the window; the sun was shining. But it earlier.
That's why the ground was wet.
a) had been raining b) had rained c) rained d) was raining

3) Margaret didn't wear her shoes; she was barefoot. She on a piece of broken glass and cut
her foot.
a) was stepping b) stepped c) had stepped d) had been stepping

4) Sam says he didn't enjoy the program because the TV set properly.
a) hadn't been working b) wasn't working c) didn't work d) hadn't worked

5) In 1912 the Titanic an iceberg on its first trip across the Atlantic, and it sank four hours
later.

a) had hit b) hit c) was hitting d) had been hitting

6) While I a burglar climbed into the room through the window.
a) had slept b) had been sleeping c) was sleeping d) slept

7) He ill for three days, so his mother wanted to bring him to a doctor, but he didn't want to
go. a) had been feeling b) had felt c¢) was feeling d) felt

8) Scarcely out of the window when I saw a flash of light.
a) was I looking b) had I been looking c) I was looking d) had I looked

9) Rescue workers a man, a woman, and two children from cold rushing water.
a) pulled b) had pulled c¢) were pulling d) had been pulling

10) Our neighbours called the police when they found out that somebody into their house.
a) broke b) was breaking c) had been breaking d) had broken

11) Her face was stained with tears and her eyes were red. She
a) had cried b) was crying c)cried d) had been crying

12) He didn't see me as he was reading when I into the room.
a) was coming b) came c)had come d)had been coming

13) He was taken to the police station because he into a car in front of him.
a) had crashed b) wasn't crashing c) didn't crash d) crashed

14) I found the way to her house quite easily because Nora it to me very well.
a) had been describing b) was describing c¢) described d) had described

15) Who in this house before they pulled it down?
a) lived b)wasliving c)hadlived d) had been living

Kioun



1-d, 2-a, 3-b, 4-b, 5-b, 6-c, 7-a, 8-d, 9-a, 10-d, 11-d, 12-b, 13-a, 14-d, 15-d

Passive Voice.
BribepuTe Balll BApHAHT OTBETa BMECTO TPOITYCKOB.

1) A new book by that company next year.
a) will be published b) is publishing c) will publish

2) Our plan by the members of the committee.
a)considers b) is considered c) is being considered

3) A prize to whoever solves this equation.
a) gives b) will be giving c) will be given

4) When the manager arrived, the problem
a) had already solved b) had already been solved c¢) had solved

5) Battle Creek is a hard-working city, where businesses dedicated employees who want to
build a good life for their families.

a) have not found b) have found c) found

6) Four people in a train crash.
a) killed b) have killed c) have been killed

7) The house by a pop star.
a) have bought b) was bought c¢) bought

8) The room later.
a) has been cleaned b) will be cleaned c) will clean

9) Many accidents by dangerous driving.
a)are caused b) have been caused c¢) caused

10) People this road very often.
a) haven't used b) don'tuse c) aren't used

11) This situation is serious. Something must before it's too late.
a) have done b)do c) be done

12) Have you heard the news? The President !
a) shot b) has shot c¢) has been shot

13) Two men tried to sell a painting that
a) had stolen b) was stolen c¢) had been stolen

14) This is a large hall. Many parties here.
a) are held b) has been held c) are being held

15) In more than 200 years the USA Constitution 26 times.
a)is amended D) is being amended c) has been amended

Kioun



1-a, 2-c, 3-c, 4-b, 5-c, 6-c, 7-b, 8-b, 9-a, 10-b, 11-c, 12-c, 13-c, 14-a, 15-c

Modals
BribepuTe Balll BApHAHT OTBETa BMECTO TPOITYCKOB.

1) Lisa get bored in her job. Her job is so boring.
a) must b)can't c)should d)would

2) Jack go to hospital yesterday.
a)should b)must c)hasto d)hadto

3) You look tired. You go to bed.
a) would b)must c)should d)could

4) It's a secret. You tell anyone.
a) needn't b)wouldn't c)shouldn't d) mustn't

5) I was surprised that she say such rude words.
a) should b)must c)would d)will
6) My grandfather speak six languages many years ago.

a)need b)shall c)should d)could

7) What shall we do this evening? We go out.
a) could b)oughtto c)should d)would

8) I to sleep recently.
a) haven't been able b) mustn't c) couldn't d) can't

9) You have just had lunch. You be hungry.
a) mustn't b) shouldn't c) wouldn't d) can't

10) you please be quiet?I'm trying to read.
a) Would b) Should c¢)Can d) Shall

11.He be at home. He be out.
a) can, shouldn't b) must, can't c¢) must, needn't d) should, mustn't

12) 1 leave the party early last night. I wasn't very well.
a)hadto b)must c)haveto d)wasto

13) Are you going to read the report? No, I . I already know what it says.
a) shouldn't b) needn't c)can't d) mustn't

14) She help you tomorrow.
a) will be ableto b) isableto )could d) will can

15) Jim gave me a letter to post. I remember to post it.
a)needn't b) must c)can d) may

Kioun
1-a, 2-d, 3-c, 4-d, 5-a, 6-d, 7-a, 8-a, 9-d, 10-a, 11-b, 12-a, 13-b, 14-a, 15-b.



OrneHMBaHWe NUCbMEHHOI'O TeCTHPOBAHMS OCYILECTBJISIETCSl 110 HOMMHA/IBHOW INIKale — 3a
TIPaBU/IBHBIN OTBET K Ka)KZOMY 3a/JaHUIO0 BBICTABJISIETCs OZIWH Oasui, 3a He TIPaBU/IbHBIN — HOJb.
OO0rmas oLjeHKa KaK/I0TO TeCcTa OCYIIeCTBISeTCS B OTHOLLIEHWH KOJMUEeCTBa TPaBUIbHBIX OTBETOB
K 00I11eMy YHMC/Ty BOTIPOCOB B TeCTe (BbIpa’kaeTcsl B TIPOLIEHTax).

YpoBeHb 3HaHWK 00yvarOLUXCs, HEOOXOAWUMBIX [ YCIELIHOTO OCBOEHHS Marepuasna
JUCLIMTUIMHEL, omnpefiesisieTcsi 1o HabpaHHbIM Oariam. Tlpu oueHke 75 % u Gosee TpaBUIBHBIX
OTBETOB YPOBEHb 3HAHHUI 00yUaroL[uXCsi cCuyuTaeTcs docmamoyHbiM. T1pu olieHKe, MeHbIel 75 %
TIPaBU/ILHBIX OTBETOB YPOBEHb 3HaHUI 00YUYarOIUXCSI CYUUTAETCSI HEOOCMAMOUHBIM .

YcrHbIM onpoc
Tema 1. Sectors of economy

Comment on the topic” answering the following questions

KoHTpoBHBIN BOMPOC

PekomMeH/lyeMoe cofiep>kaHKe OTBeTa

1. What are the sectors of an economy?

2. What industries does the primary sector
include?

3. Why does mining partially belong to the
secondary sector?

4. How do manufacturing industries produce
goods?

5. Do any services belong to the secondary
sector?

6. What does the tertiary sector include?

7. What countries produce agricultural products
and minerals?
8. Which
countries?

sector grows in industrialized

1. There are three main sectors in any economy:
the primary sector, the secondary sector, and the
tertiary sector.

2. The primary sector of economy includes
industries that get goods from nature, such as
agriculture and mining.

3. Mining partially belongs to the secondary
sector as mineral resources need industrial
processing.

4. Manufacturing industries produce goods by
means of mechanical, electrical or chemical,
processing of resources.

5. Some services belong to the secondary sector
6. The tertiary sector provides different services
to consumers, such as trade, transport, banking,
insurance and other public services. Teachers,
doctors, tourist agents, drivers, lawyers, etc2
work in the tertiary sector

7. Wales produces minerals. Other countries
produce agricultural products

8. There is a tendency for the growth of the
service sector in many economies, especially in
industrialized countries

Tema 2. What is economics?

Comment on the topic answering the following questions

KoHTpoJIbHBIN BOIIPOC

PEKOMEHAYEMOE CoaepKdaHre OTBEeTd

1. What problems are economists interested in?
2. What are the three main approaches to
economics?
3. What specialized areas of economics do you
know?
4. Why do economists use economic models?
5. Why is it not possible to include all the details
in a model?
6. What does a model usually include?

7. Which of the models does an economist
always choose?
8. Why is it necessary for an economist to collect

1. Economists are interested in factors that affect
prices of goods and services and also resources
necessary to produce them, sellers‘ and buyers*
behaviour in the market, in the relationship

between —price systeml and —market
mechanisml.
2. There are three main approaches to

economics: microeconomics, macroeconomics,
and development economics.

3. There are also several specialized areas of
study. Among them are money economics,
international economics, labour economics,




and study actual data?

industrial economics, agricultural economics,
growth economics, mathematical economics, etc.
4. A model often helps an economist to make
correct predictions.

5. Real life is complex and it is not possible for
an economist to include all the details in a
model.

6. A model usually includes only essential
elements and relationships of a particular
economic situation.

7. He always chooses the model that predicts the
results of a particular phenomenon more
accurately.

8. It is also necessary to collect and study actual
data in order to know how accurate a model is

Tema 3. Areas of economics

Comment on the topic answering the following questions

KoHTpoJ1bHBINM BOIIPOC

PEKOMQHAYEMOE CoepKdHre OTBETd

1. What does microeconomics study?

2. Whose economic behaviour is studied by
microeconomics?
3. How are
microeconomics?
4. When did microeconomic approach dominate
in economics?

5. When did economists
macroeconomics grow?

individuals considered by

interest in

6. How is economy considered in
macroeconomics?
7. What stimulated the development of
macroeconomics?

8. What problems were analyzed in the 1930s?
9. What is studied by development economics?

1. Microeconomics focuses on individual
economic units.

2. The economic behaviour of either individual
consumers or firms or industries is studied by
microeconomics.

3. Individuals are considered both as suppliers of
labour and as consumers of goods.

4. There was a long period in the 19th and early
in'" the 20tn centuries when microeconomic
questions dominated in economics.

5. Economists* interest in macroeconomics grew
after the great depression

6. it is considered as achievement of full
employment and economic growth by means of
proper government policies

7. The world depression that began in 1929
stimulated the development of macroeconomics
8. Such macroeconomic questions as
achievement of full employment and economic
growth by means of proper government policies
were analyzed in the 1930s

9. Development economics studies the factors of
economic growth and how these factors are used
by governments in order to achieve high living
standards.

Tema 4. Development economics

Comment on the topic answering the following questions

KOoHTpOJIbHBINM BOMIPOC

PEKOMEH,qyeMOE Coaep’KdHre OTBEeTd

1. What problems does development economics
study?
2. How are Third World countries named?

1. Development economics studies considers
specific problems of Third World countries
2. These countries are given a variety of different




3. What countries are known as —developed
countries|?
4. When was the fastest growth of Third World
countries?

5. Are developing countries independent
politically or economically?
6. What countries belong to —newly

industrialized countriesl?

7. Are all developing countries uniform in their
development?

8. What are the common characteristics of all
developing countries?

names such as —underdeveloped countriesl,
—Iless developed countriesl (LDCs), and
—developing countriesl (DCs).

3. Countries of Western Europe, North America,
and Japan are known as developed countries

4. The growth of Third World countries was
especially great in the 1950s and 1960s.

5. Many countries got political independence
after World War II, but they have not become
independent economically yet

6. The most advanced Asian and South
American countries are sometimes called newly
industrialized countries| (NICs)

7. Third World countries are not uniform in their
development

8. Lower average income per capita: low labour
productivity: low level of education; high
mortality rate: fast population growth: low living
standards, etc. are the common characteristics of
all developing countries

Tema 5. Applied fields of economics

Comment on the topic answering the following questions

KoHTpoBHBIN BOMPOC

PekomMeH/lyeMoe cofiep>kaHKe OTBeTa

1. What topics do applied fields in economics deal
with?

2. What does industrial economics study?

3. What influences profits and losses in any industry?
4. Why is economics of energy closely connected
with industrial economics?

5. What were the main sources of energy in the past?
6. Why were adjustments made in most industries in
the 1970s?

7. How are prices for oil regulated now?

1. Applied fields in economics deal with specific
topics, such as industrial economics, agricultural
economics, economics of energy, economics of
education, labour economics, etc.

2. Industrial organization and structure are
studied by industrial economics

3. Both profits and losses in any industry are
affected by the behaviour of firms and
companies engaged in the industry.

4. A lot of energy has been used by the modern
economy in recent decades.

5. In the past, wood and coal were used as the
main sources of energy

6. Adjustments have been made by industrial
economies in order to cope with the energy
scarcity.

7. Regular meetings are held by the OPEC
formed in order to regulate oil prices.

Tema 6. Agricultural economics

Comment on the topic answering the following questions

KOHTpO/IBbHBIN BOMPOC

PexkoMeH/[yeMoe cofiepyKaHHe OTBeTa

1. Why is agricultural economics developing rapidly?
2. What is it necessary to know to understand
agricultural economics?

3. What is the main characteristic of agriculture?

4. Why do farms of the same type in different regions
use different livestock breeds, crop varieties and
machinery?

1. Tt is developing rapidly and successfully as it is
important for most countries of the world.

2. In order to understand agricultural economics it is
necessary to know how crops are sown, cultivated,
fertilized, and harvested, how livestock are bred,
raised, fattened, and sold.

3. One of the main characteristics of agricultural




5. What are the main reasons for rising efficiency in
agriculture in the developed countries?

6. What are the factors limiting further rise in
productivity in agriculture?

7. Why do farm incomes vary from year to year?

sector is its great dependence on natural conditions

4. Farms of the same type in different regions use
different livestock breeds, crop varieties and
machinery because of differences in climate,weather,
soil, etc.

5. The main reasons for rising efficiency are: a) better
agricultural technology; b) better capital inputsl ,
such as machinery; c) achievements in biological
sciences.

6. There are two main factors limiting further rise in
efficiency: increasing energy scarcity as well as the
loss of topsoil and water

7. They depend on weather conditions and changes in
demand for and supply of most farm products

Tema 7. Economics of education

Comment on the topic answering the following questions

KoHTpo/bHBIN BOIIPOC

PekoMeHIyeMoe cofiepyKaHue OTBeTa

1. What are the characteristics of education which are
the same in all countries?

2. What is the role of education in social progress?

3. What are the private benefits of education?

4. What are the public benefits of education?

5. What is the task of economics of education?

6. Why are total subsidies for schools justified? What
about subsidies for colleges?

7. How is education financed?

8. Is economics of education going to become more
important in the near future? Why?

1. It improves skills which make people more
productive. By means of education people are made
stable members of society. Some teachers also do
creative research which helps to improve technology
2. Education creates large economic values varying
from technical productivity in factories and offices to
progress of knowledge

3. Each student gets private benefits when lie or she
learns new skills which will allow them to get higher
pay on the job. Besides, the job will probably be
more pleasant and the person will cope with
problems of modern life better

4. First, it provides more productive workers for
society, economy becomes more -efficient and
profitable. Without education many people do not
cope with difficulties of life and turn to crimel or
require public support. Second, people understand
social life better and they will deal with public
problems more intelligently and avoid extremism.
Third, 70 greater productivity of population provides
more taxes in order to pay for public needs

5. The task of economics of education is to evaluate
public and private benefits and make decisions how
much a government is going to invest in every type
of school and how the government is going to do it

6. As productivity and stability of population is
mainly increased af school level, total public
subsidies for schools are justified. For education at
the college level, however, the public benefits are
weaker than private benefits and full public subsidies
are considered less justified than at the school level

7. Education is being financed by subsidies or
scholarships

8. Technologies are becoming more complex and
demand for education as well as a number of
qualified specialists will grow in future. With it, the
role of economics of education and the scope of
problems studied by it is growing in the years to
come




Tema 8. Labour economics

Comment on the topic answering the following questions

KoHTpobHBIM BOIIPOC

PekoMeH/IyeMoe cofiepyKaHHe OTBeTa

1. What does labour economics study?

2. Who does labour force include?

3. What is unemployment?

4. What does unemployment result from?

5. How does demand for labour affect its supply and
price?

6. How do non-economic factors work in the labour
market?

7. Is unpaid labour considered in economics? Why
(not)?

1. Labour economics studies the functioning of the
market for labour, its participants — workers and
employers and the resulting wages and
employment.

2. Labour force is the number of employed people
plus the unemployed* seeking work.

3. Unemployment is the term for when a person
who is actively seeking a job is unable to find work.

4. Unemployment beyond the natural rate results
from insufficient demand in economy

5. In markets for goods if the price is high more
goods will be produced until the demand is met. But
the time in the day is limited and people are not
manufactured. If wages rise the supply of labour, in
many situations, will not be increased. The supply
will not be changed or even less labour will be
supplied as workers take more time off to spend their
increased wages.

6. Workers more willingly apply for jobs where they
have personal connections and they are more
willingly hired there. Group membership, race or
nationality of the worker influences firms‘ hiring
decisions.

7. Labour market analyses have recently turned to
unpaid labour which was neglected by economics in
the past. Although this type of labour is unpaid it
affects society as a whole.

Tema 9. International economics

Comment on the topic answering the following questions

KoHTpo/bHBIM BOIIPOC

PekoMeH/IyeMoe cofiepyKaHHe OTBeTa

1. What problems does international economics deal
with?

2. How long has trade between nations existed?

3. Why has the importance of international trade
changed in recent decades?

4. How can nations influence trade relations?

5. Which international organizations help to promote
trade between countries?

6. How can countries protect their
producers?

7. What is international finance?

8. What forms a transnational corporation?

domestic

1. International economics deals with international
trade and international finance.

2. It has existed for ages, for example Silk Road' and
Amber Road.

3. Its importance has greatly increased recently as a
result of advanced transportation, globalization and
facilities of transnational corporations.

4. Nations can influence trade relations regulating it
through multilateral treaties.

5. The World Trade Organization, the NAFTA, the
European Union and other international organizations
help to promote trade between countries.

6. There is sometimes strong domestic pressure to
increase tariffs that can protect domestic producers.

7. International finance as a branch of economics
studies exchange rates of currencies and foreign
investment, and how these can affect international
trade.

8. The FDI relationship consists of a parent6
enterprise and a foreign affiliate which together form
a transnational corporation.




YCTHBII OMPOC OLEHUBAIOTCS TI0 YeThIpeX Oa/uIbHOU cUcTeMe:
«OTJIMYHO» - CTy[eHT ryy0OKO M TIPOYHO yCBOW/I 33/IaHHYIO TeMy, MCUepIIbIBAIoIle ee
u3/1araeT, He JJOIycKasi OlMO0K;
«XOpOLIO» - CTYZIeHT TBepZ0 3HaeT 3a/laHHyl0 TeMy, 'PAMOTHO ee U3/1araeT, He 0IyCKaeT
CYLL|eCTBEHHbIX HETOUHOCTEU MPU OTBETax.
«YAOBJIETBOPHUTE/IBHO» - CTY/IeHT OCBOWJI TOJIKO YacCThb 3a/JaHHOW TeMBI;
«Hey/l0B/IeTBOPHUTE/IbHO» -eC/IA CTYJEeHT He YCBOW/I Marepuana 3aJlaHHOW TeMbl;
JOTyCKaeT CyIleCTBeHHbIe OIIMOKY, He 3HaeT Orpe/je/ieHNi K/TF0OUeBbIX MIOHSATHIH 10 TeMe.
KosmnuecTBO MOIBITOK NIPOX0’K€HKsI YCTHOT'O OIpOCa HeOrpaHUYeHHO, BpeMsl Ha ero NpoXoXKeHue
— 5 MUHYT

JKcnpecc-onpoc (Ha 3HaHUE JIEKCHYECKOr0 MUHMMYyMa 110 TeMe)

Tema 1. Sectors of economy
- to include

- goods and services

- agriculture, farming

- BKJIFOUATh B Ce0s
- TOBaphl U YCIYTH
- CeJIbCKOe XO34MCTBO

- crop farming - PacCTeHUeBO/ICTBO

- animal farming - JXKUBOTHOBO/ICTBO

- mining - TOpHasi MPOMBILIJIEHHOCTh
- to process - obpabarsiBaTh

- to manufacture - TIPOU3BO/IUTh

- to provide - obecrieunBaTh

- plant - 3aBO/I, habpuKa

- fuel - TOTJTUBO

- consumer - noTpebuTeNb

- trade - TOPTOBJISA

Tema 2. What is economics?

- economics - SKOHOMMUeCKasl HayKa, 9KOHOMUKa
- to affect - BJIUSITH

- price - [jeHa

- behavior - TIOBeJIeHHe

- market mechanism
- market of services

- PBIHOYHBIN MeXaHU3M
- PBIHOK yCJIyT

- relationship - OTHOIlIeHWe, B3aMMOOTHOLLIeHHEe

- to develop - pa3pabarbIBaTh, pa3BUBATh

- development - pa3paboTKa, pa3BUTHE

- area - 06/1acTh, paiioH, TeppUTOpUS

- labour - TPYA,

- to predict - pe/JiCKa3bIBaTh

- essential - 00s13aTe/NbHBIN, CyI|eCTBeHHbIN

- to make a decision - IPYHUMATh pelleHue

- data - JAaHHBIN

Tema 3. Areas of economics

- unit - eiHMULA, O/TOK

- either... or - WIN...WH

- to distribute - PacIipoCTpaHsTh, PaCIpeesisiTh

- income - noxoZ(bl), MPUObLIBL, MMOCTYTIEHHE
- to consider - paccMaTpuBarTh, Mojarath, CUMTaTh
- both... and - U...4, KaK.. TaK

- supplier - TIOCTAaBILUK

- force - cuna




- employment

- to require

- to achieve

- achievement

- proper

- government

- living standard

- paboTa, 3aHITOCTb

- Hy)KAaThbCsi, TpeboBaTh

- IOCTUTaTh

- JIOCTIDKEHHE

- IPaBWIbHBIY, Ha/lJIeXKallui
- IPaBUTE/ILCTBO

- )KU3HEHHBIX YPOBEHb

Tema 4. Development economics
- variety

- independence

- dependence

- advanced

- to reach

- light manufacturing industry
- to increase

- uniform

- to make progress

- to distinguish from

- pa3zHooOpa3ue

- HEe3aBUCUMOCTh

- 3aBUCUMOCTh

- TlepeJOBOM, MPOTpeCcCUBHbIN, Pa3BUTHIM
- IOCTUTaTh

- NlerKasi IpOMBIILIJIEeHHOCTh

- BO3pacTaThb, yBeJIMUUBaTh(Cs)

- 0fiHOO0Opa3HbIM, 0THOPOAHBIIN

- locTUraTh ycrexa

- BBIJEJIATh U3, OTJIMYATh OT

- average - cpegHUN

- percapita - Ha UesIoBeKa, Ha /IyIlly Hace/leHUs
- labour productivity - IPOU3BOIUTETBHOCTh TPY/ia

- fast (rapid) - OBICTPBII

- population - HaceJjieHHe

Tema 5. Applied fields of economics

- applied - TIPUK/Ia/IHOM

- applied fields - TIPUKJ/Ia/IHbIe 00/1aCTH

- however - OJHAKO

- to deal (with)
- industrial economics
- education

- as well as

- various

- degree

- competitor

- competition
- to compete
-oil

- to influence smth/ smb
- profit

- loss

- to engage

- recent

- consumption
- source

- equipment

- to introduce

- scarce

- scarcity

- rise

- adjustment

- to adjust

- to cope

- UMETb JIeJI0 C, BECTH JIeJI0 C
- 9KOHOMMUKA MPOMBIIIIEHHOCTH

- oOpa3oBaHue

- TaK ke Kak

- pa3/IMuHbIM, pa3HbIi

- CTereHb, CTyTeHb

- KOHKYPEHT, COTIePHUK

- KOHKYPeHIIUsl, COpDeBHOBaHe

- KOHKYpHUPOBAaTh

- HepTh

- BJIUSITH

- IpUOBL/Ib, OXOZ

- ioTepsi, yObITOK

- 3aHUMaTb, HAHUMaTh

- He/laBHUM, HOBBIM, CBEe)KHI, COBPEMeHHbBIU
- motpebJsieHre, pacxo

- ICTOYHUK

- obopymoBaHME

- BBOZIUTD, BHEIPSITH

- HeJI0CTaTOUHbIM, CKYAHbIN

- HEIOCTaTOK

- TIOBBILLIEHUE, YBeTMUeHue, MoAbeM

- peryJiupoBaHue, KOpPeKTHPOBKa

- TIPUCIIOCA0/INBATh, TIO/ITOHATh, PET'Y/TMPOBAThH
- CrIpaBJIATHCS (C)




Tema 6. Agricultural economics
- to raise

- BbIpAllIlMBATh, YBE/IMUYHNBATb

- natural - eCTeCTBeHHbIW, IPUPO/HBIN

- condition - yC/I0BUE

- under... conditions - B ... YCJIOBUSIX

- difference - pasHuIja, pa3Tuume

- the same - TOT >Ke CaMblid, OIMHAKOBBIN
- machinery - MalllMHa, MalllMHHOe 000py/J0BaHKe
- as a whole - B 1|€JIOM, B COBOKYTTHOCTH

- reason - IPUYMHA, OCHOBAHHE

- for some reason - TI0 KaKOW-/Tn00 MpuIrHe

- efficiency - 3¢ peKTUBHOCTD

- science - HayKa

- further - JabHeUIInH, moc/e Yy I
- to vary - U3BMEHATLCA

- demand - CIIpoC

- supply - Ipe/i/I0yKeH1e

Tema 7. Economics of education

- task - 3a7lava

- society - 0011]eCTBO

- to improve - yJ/lyulllaTh, COBEPIIEHCTBOBATh
- skill - MacTepCTBO

- productive - IPOU3BOJUTENbHBIMN, POYKTUBHBIN
- stable - YCTOWMYUBBIN, TIPOUHBIH

- Creative - TBOPUECKUU

- to create - TBOPUTH, CO3/4aBaTh

- to do research - IPOBOJUTH UCC/IeIOBaHKe

- value - [IEHHOCTb, CTOUMOCTh

- to evaluate - OL|eHUBATh

- knowledge - 3HaHUe

- private - YaCTHBIN

- benefit - IPEUMYII[ECTBO, BHITOZIa

- profitable - IpUOLUTBHBIN, peHTabeTbHBIN
- to support - [0 Aep>X1UBaThb

- to avoid - usberarb

- tax - Hajor

- subsidy - cybcuaus

- scholarship - CTUMIeHIUSI

Tema 8. Labour economics

- employer - HaHWMaresb, paboToJaTenb

- to result (from)
- as a result of

- wage

- to seek

- to depend on

- retirement

- percentage

- labour force

- insufficient

- to differ from

- to meet demand
- limited

- CJlej0BaTh, MPOUCXOIUTh B pe3y/ibTaTe
- B pe3yJbTare

- 3apaboTHas 11aTa

- UCKaTh

- 3aBUCEThb OT

- BBIXO/I Ha TTIeHCHI0, OTCTaBKa

- TIPOLIEHT, MPOLIEHTHOEe COOTHOIIIeHUe
- pabouasi cusa, TpPy/I0BbIe PeCypChl

- HeZIOCTAaTOUHbIU

- OT/IMYATHCS OT

- YAIOBJIETBOPSITH CIIPOC

- OrpaHUYeHHbIN




- to limit

- time off

- to apply

- to hire (to employ)

- OTPAaHUYMBATH
- cB0O0/IHOE BpeMsi, OTT'Y/I, OTITYCK

- oOpaiaThCs ¢ 3asiBJIeHUEM; TIPUMEHSITh
- HAaHUMaTh, MPeIOCTaB/sITh paboTy

Tema 9. International economics
- finance

- exchange

- exchange rate
- foreign exchange market
- through

- bilateral

- multilateral

- treaty

- sign

- restriction

- a number of

- powerful

- policy

- domestic

- tariff

- to apply tariffs
- currency

- foreign trade

- affiliate

- to consist of

- (pvHAHCBI, JOXO/bI, J€HbIH

- 0OMeH; pa3MeH JieHer

- BaJTFOTHBIM KYypC

- PIHOK MHOCTPAHHOM Ba/IOThI

- yepes, MOCPeJCTBOM

- IBYCTOPOHHHWM

- MHOT'OCTOPOHHMM

- IOTOBOP

- TOATUCHIBATh

- OrpaHUyeHure, Cy)KeHue

- HEKOTOpO€e KOJTMUeCTBO, Psif

- CWIbHBIY, BIUSITEIbHBIN, MOTYIL[€CTBEHHbIN
- TTO/IUTHKA, JIMHUS NOBeJeHNUs], KypC
- BHYTPeHHHH, OTeYeCTBeHHbIN

- Tapu; Hasor, MOIIMHA

- yCTaHAB/IMUBATh TapUPbI

- BJIIOTA, JIeHbI'1

- BHELIIHSIS1 TOPTOBJIsS

- punmarn, otaeneHue

- COCTOSATh, COCTaB/ISITh U3

OreHrBaHMe KCIPecCc-0rpoca OCYILeCTB/IsIeTCs M0 HOMUHAIbHOM 1IKa/ie — 3a MPaBU/IbHbBIN
OTBeT K KaXK/IOMYy 3aJIJaHUIO BBICTABJISIETCS O/IWH 0asul, 3a He MpaBWIbHBIA — HOMb. OOIjasi oljeHKa
Ka)X/]OTO BOTIPOCAa OCYIIECTB/ISIETCS B OTHOIIEHWHM KOJIMUYEeCTBA TPaBWIBHBIX OTBETOB K 0OIIeMy
YKCJly BOTIPOCOB (BbIpa)KaeTcsi B MPOLIEHTAX).

OKCrpecc-onpoc CUUTAeTCs IPOWEHHBIM TTpU 0011[eil otieHKe 75%

KonmuecTBO MOMBITOK U BpeMsi — HeOIrPaHUUEHHO.

2.3 OueHouyHbIe MaTepUaJibl /1 MPOBe/jeHHs IPOMEe)KyTOUHOU aTTecTalul

3auer
3ayeT NpOBOJAUTCS B IIEPBOM U BO BTOPOM CeMeCTpax U3yueHUs JUCLIUIIUHBL.

KpuTepun onjeHUBaHusA

OHEHHBaHHe HpOMe)KyTOqHOﬁ dTTeCTallir IIPONU3BOJUTCH T10 ,/:[ByX6aJILHOI7I IKaJ/ie: «3a4TeHO»
1 «He 3aUTeHO».

«3auTeHO» — TeOpeTHUecKoe Co/iep)KaHue yueOHOro MaTepyasa OCBOEHO CTY/JeHTOM B ITOJTHOM
o6beMe 6e3 mpobesnoB (TMepecka3 TEKCTOB W 3HAHUE JIEKCUYECKUX €AWHUI] 10 TeMaM, a TaKkKe
NIPOXO’KAeHNe BCeX TeCTOB TeKylleld aTTecTalldd C pe3y/lbTaToM He MeHee 75% 10 KaKAOMY),
HeoOXOMMble TPAaKTUYeCKWe HAaBBIKM B OCHOBHOM C(OPMUDOBAHBI, OJZHAaKO OHHM MOTYT OBITh
He/[0CTaTOUHBIMU; TIePeBOJ, TEeKCTa BBITIOJIHEH, XOTS HEKOTOpble OTBEThI MOTYT COJep>KaTh JIHIIb
He3HauMTe/IbHbIe OINOKH.



«He 3auteHo» — TEOPETHUYEeCKOe CO/Ziep>KdHHEe MdaTepHa/id OCBO€HO YdCTHUYHO, HEO6XO,E[I/IMLI€
MpakKTUUeCKrEe HABBIKH paGOTbI C TeKCTOM He C(i)OpMI/IpOBaHBI, OOJILILIMHCTBO 3a,E[ElHI/II‘/JI He
BBITIOJ/IHEHO, /100 KauecTBO UX BBITNOJJHEHUSI 0UeHb HU3KOe.



	4. Откройте скобки и поставьте глаголы во времена Indefiniteили Continuous.

